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Note that you could also solve the same problem using the adiabatic fin tip approach and get the same

answer. Since tanh(mL) ~1 for mL > 2.65, q is equal for the "adiabatic fin tip" and the "infinitely long fin"
approach.
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There are multiple other ways to solve this problem. One could form a resistance network for the system and
use the network to find Bi = Ry,/Rex. Another way would be to individually compare the internal resistance
to (i) the convection resistance and (ii) the conduction resistance associated with the floor (1/2KkgyoD) .





